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2A:

S oAMH HHIA HE
ool QEEE AMHlA 23 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFCSEFAHEF ctd)| 1,600
OXESIH=HET] 390
JIE2HSEAR K Bl X 70,126 19,450 50,676
= 70,126
201 er23| 64,126 15,450 48,676
= 64,126
01 At22t2l] 64,126 15,450 48,676
oJlzgexd 59,806
= 59,806
o=gH| 4,320
= 4,320
202 048l 6,000 4,000 2,000
= 6,000
01 2LHoIH 6,000 4,000 2,000
OIS AHSEE R & WS04 6,000
= 6,000
EXZe| HIAHIA &S 3,909,552 1,527,740 2,381,812
= 523,345
< 11,323
Al 3,374,884
EX2A ANHlA 25t 3,909,552 1,527,740 2,381,812
= 523,345
== 11,323
Al 3,374,884
EXA ddxel 156,625 156,625 0
201 223 156,625 156,625
01 At22t2ltl 151,000 151,000
OHESAIXI BE==== 60,000
ONeRes MMd & 288t =8 80,000
OXNHUA SSESI| 23 5,000
O=Rs4t AHEHE U238 6,000
02 S22l 5,625 5,625 0
oREEER= 625
OEXNZe|EE ANEZEEl =X 5,000
ANHESENE &otgt 13,000 13,000
207 ARl 13,000 13,000
02 MAHHZHI 13,000 13,000
OXHSEA=Z Hbtst 13,000
KIETHZEAALS 523,345 637,457 A114,112
= 523,345
201 er=23| 35,901 43,488 NT,587
= 35,901




2A:

E M

SFSRIE=p e
EX 2| HEAHIA BHE

ol EX2E MHlA 25 (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

01 At2t2ltl 20,493 30,782 10,289
OXETHZEA JIEE 2=H| 13,860
= 13,860
OXIHTHZEAL AHY 29F 6,633
= 6,633

02 s3=gHl 15,408 12,706 2,702
oRERS 15,408
= 16,408

202 04| 2,880 2,880 0
= 2,880

01 =LHAHI 2,880 2,880 0
(OPNE=PY ESVNR=PNESIN; 2,880
= 2,880

308 XXM SOIA 484,564 591,089 106,525
= 484,564

1 S 2SH U B XA AIE 484,564 591,089 106,525
OXETHEA S 484,564
= 484,564

KIHTHEAIALY F=&(XIHPE) 3,064,000 564,000 2,500,000

201 L= 64,000 64,000 0

01 AFS2t2ltl 60,000 60,000 0
OXHMEAS R A3 =E 4,240
OX HHTAIR 23S ?E+Z 1,440
OZHZEARE FE+E 2,240
QM ANEIIRIES flE+S 560
OXIHHZA HRFZ 55,760
Od=s & 28I =8 S 55,760

2 35244l 4,000 4,000 0
OXIHZTAIAIE Z2E3SXE &S 4,000

301 EtE N = 3,000,000 500,000 2,500,000

14 IIEt2 83 3,000,000 500,000 2,500,000
OXNEMEAL 8= 3,000,000

NEII=E MASKAH dde 37,742 37,818 NT6
=S 11,323
Al 26,419

201 et 3| 37,742 37,818 AT6
< 11,323
Al 26,419

01 At2t2lt] 37,742 37,818 AT6
OXHII=E NASKA dudet 37,742
= 11,323
Al 26,419
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A136
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1,280
1,280

N2,016
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600
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MEE
Ofl &k2h

114,840
114,840
114,840

94,430
52,360
52,360
28,600
25,600

3,000

20,160
20,160

3,600
3,600

4,932
4,932

Ofl &F2H
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10,080
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